 in Equation (4) represents the fibril density at each one of the 16 discretised orientations. Distribution of  was described using Zernike polynomials:
	
	
	(8)



[bookmark: _GoBack]Where Zernike term , and () is the radial polynomial defined as  ().  and  are intergers that represent polynomial order and the angular frequency, respectively. In this study, Zernike order was taken as 10 and the polynomial coefficients are listed below for 16 orientations respectively in four ocular zones, Tables 3 to 6. The polynomial coefficients were calculated based on least square minimisation:
	
	
	(9)










Table 3 the value of coefficient by fitting a fibril distribution map in Zone 1. Angle  represents 16 discretised fibril orientations defined in a local coordinate system at integration point, Figure 1. Each column of coefficients applies to calculate fibril density at one orientation, Equation (8).
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Table 4 the value of coefficient by fitting a fibril distribution map in Zone 2.
[image: ]
Table 5 the value of coefficient by fitting a fibril distribution map in Zone 3.
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Table 6 the value of coefficient by fitting a fibril distribution map in Zone 4.
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n,m

11.25 33.75 56.25 78.75 101.25 123.75 146.25 168.75 191.25 213.75 236.25 258.75 281.25 303.75 326.25 348.75

n=0,m=0 1.98 1.86 1.17 1.72 5.37 13.26 24.70 36.49 44.39 45.30 38.66 28.35 16.53 5.50 -0.90 -0.94

n=1,m=-1 0.22 4.41 6.52 3.23 -8.06 -29.13 -50.51 -64.88 -64.55 -56.28 -49.41 -44.42 -40.35 -32.95 -20.86 -8.88

n=1,m=1 -12.69 -9.71 -12.46 -20.28 -26.72 -30.61 -35.45 -40.08 -43.46 -45.45 -46.61 -46.19 -38.57 -28.26 -20.70 -16.22

n=2,m=-2 -19.66 17.28 48.21 56.38 50.09 53.68 92.76 149.99 197.12 201.52 163.94 92.65 18.39 -31.52 -52.08 -47.15

n=2,m=0 1.59 1.26 -0.44 1.00 10.01 29.21 56.86 85.27 104.23 106.36 90.25 65.23 36.61 9.97 -5.41 -5.43

n=2,m=2 27.42 17.40 20.92 49.16 89.62 112.57 110.56 95.10 86.95 85.02 84.01 73.68 59.75 50.38 43.47 38.80

n=3,m=-3 -37.41 -39.56 -35.55 -27.09 -28.06 -43.95 -71.73 -103.35 -127.64 -137.32 -126.74 -106.83 -88.09 -69.55 -53.64 -41.27

n=3,m=-1 0.38 5.85 8.68 4.20 -11.44 -40.74 -70.61 -90.73 -90.32 -78.65 -68.69 -61.42 -55.57 -45.18 -28.38 -11.88

n=3,m=1 -16.72 -12.47 -16.27 -27.49 -37.01 -42.89 -49.66 -55.98 -60.60 -63.34 -64.92 -64.21 -53.47 -38.99 -28.25 -21.83

n=3,m=3 -26.43 -44.79 -60.23 -67.12 -70.61 -75.50 -75.51 -66.43 -47.45 -23.17 -4.51 -2.16 -9.85 -22.14 -22.88 -20.45

n=4,m=-4 87.41 111.88 133.64 142.64 139.52 129.53 110.84 90.52 71.89 63.49 73.17 95.19 91.41 78.20 63.65 67.02

n=4,m=-2 -20.29 19.79 53.27 62.08 54.88 57.69 97.73 156.93 205.70 209.62 169.50 94.12 15.96 -36.20 -56.97 -50.45

n=4,m=0 0.43 0.00 -1.96 -0.25 9.67 30.40 59.90 90.03 110.00 112.12 94.85 67.98 37.34 9.02 -7.17 -7.05

n=4,m=2 28.34 15.66 17.57 46.25 88.56 113.07 111.61 96.01 88.27 87.46 88.06 78.85 65.31 55.60 47.89 41.92

n=4,m=4 6.86 7.30 -4.34 -42.72 -76.30 -79.52 -41.37 14.60 61.40 85.70 89.04 76.66 61.31 45.76 28.40 13.41

n=5,m=-5 -32.55 -33.89 -33.94 -29.78 -25.55 -22.45 -17.50 -13.65 -16.88 -22.61 -28.52 -33.12 -36.46 -34.46 -31.24 -31.56

n=5,m=-3 -29.14 -31.74 -29.21 -22.75 -23.22 -35.17 -56.38 -80.46 -98.83 -105.98 -97.67 -82.45 -68.09 -53.74 -41.20 -31.56

n=5,m=-1 -0.11 3.50 5.37 1.80 -10.51 -33.52 -57.15 -73.06 -72.66 -63.06 -54.48 -48.12 -43.09 -34.73 -21.60 -9.03

n=5,m=1 -12.96 -9.43 -12.33 -21.54 -29.76 -34.99 -40.42 -45.28 -48.85 -50.97 -52.15 -51.37 -42.69 -31.12 -22.45 -17.21

n=5,m=3 -21.13 -35.18 -46.74 -51.38 -53.47 -56.79 -56.58 -49.65 -35.54 -17.58 -4.22 -3.34 -9.77 -19.15 -19.21 -16.81

n=5,m=5 5.30 12.05 17.40 18.33 17.65 16.97 14.69 9.05 3.65 -0.81 -8.01 -18.32 -28.81 -32.49 -24.14 -8.57

n=6,m=-6 34.52 36.07 34.11 23.94 7.20 2.70 28.99 68.71 89.26 80.88 62.53 45.74 32.65 22.28 19.61 26.43

n=6,m=-4 57.71 74.09 88.06 93.12 90.08 82.83 70.59 58.44 47.88 43.67 50.29 63.81 60.01 50.49 40.95 43.63

n=6,m=-2 -13.56 14.69 38.26 44.64 39.39 40.30 65.81 104.10 135.57 137.19 109.48 58.45 5.98 -28.52 -41.30 -35.25

n=6,m=0 -0.37 -0.79 -2.30 -0.98 6.10 20.47 40.61 60.97 74.35 75.67 63.88 45.45 24.53 5.31 -5.54 -5.38

n=6,m=2 18.54 7.63 6.87 24.84 52.73 69.42 69.04 59.30 55.07 55.99 58.37 54.20 46.51 40.24 34.63 29.44

n=6,m=4 4.25 4.77 -3.11 -29.59 -52.82 -55.05 -28.88 9.42 41.39 57.77 59.93 51.59 41.31 30.90 18.90 8.53

n=6,m=6 0.85 -19.91 -46.09 -63.64 -58.08 -26.79 4.82 11.03 -4.65 -17.62 -13.23 4.91 15.45 10.64 7.78 8.48

n=7,m=-7 -9.76 -13.24 -8.95 -1.69 1.67 -1.94 -9.89 -13.13 -10.81 -5.94 -3.33 -2.65 -0.19 4.12 3.93 -1.54

n=7,m=-5 -16.78 -17.31 -16.95 -14.41 -11.82 -10.07 -7.80 -6.28 -8.00 -10.64 -13.20 -15.27 -17.04 -16.55 -15.57 -16.17

n=7,m=-3 -13.08 -15.07 -14.41 -11.55 -11.70 -17.20 -27.10 -38.27 -46.66 -49.76 -45.69 -38.54 -31.76 -24.82 -18.55 -13.82

n=7,m=-1 -0.39 0.60 1.17 -0.51 -6.34 -17.36 -28.82 -36.48 -36.06 -30.92 -26.02 -22.32 -19.53 -15.43 -9.34 -3.85

n=7,m=1 -6.15 -4.13 -5.29 -9.88 -14.34 -17.29 -19.97 -22.23 -23.96 -25.08 -25.79 -25.44 -21.22 -15.57 -11.22 -8.48

n=7,m=3 -9.81 -16.46 -21.79 -23.59 -24.24 -25.55 -25.37 -22.21 -15.97 -8.09 -2.52 -2.74 -5.98 -10.12 -9.57 -7.95

n=7,m=5 2.35 5.61 8.17 8.73 8.42 7.78 6.07 2.98 0.25 -1.77 -4.95 -9.71 -14.75 -16.51 -12.24 -4.45

n=7,m=7 -4.29 1.95 9.59 12.53 8.79 1.79 -2.27 -0.64 2.69 1.61 -4.31 -9.25 -8.99 -6.35 -5.79 -6.70

n=8,m=-8 12.83 7.59 2.73 3.00 10.19 17.17 13.91 6.97 2.24 9.19 21.06 25.36 23.02 21.04 19.67 18.30

n=8,m=-6 14.60 15.38 14.37 9.87 2.64 0.88 12.21 28.96 37.43 33.63 25.88 19.01 13.84 9.55 8.19 11.10

n=8,m=-4 23.03 30.05 35.71 37.34 35.52 32.16 27.29 23.27 20.21 19.38 22.16 26.84 24.13 19.45 15.42 16.76

n=8,m=-2 -6.11 6.80 17.67 20.88 18.48 18.23 28.13 43.40 55.92 55.92 43.59 21.60 -0.67 -14.97 -19.71 -16.18

n=8,m=0 -0.38 -0.72 -1.67 -1.17 2.05 8.51 17.40 26.25 31.96 32.41 27.20 19.03 9.88 1.61 -2.86 -2.59

n=8,m=2 6.75 0.74 -0.78 6.07 17.57 24.72 24.90 21.24 20.15 21.62 24.03 23.60 21.13 18.40 15.49 12.44

n=8,m=4 1.35 1.75 -1.63 -13.36 -23.64 -24.51 -12.84 4.04 17.97 24.83 25.41 21.59 17.11 12.72 7.52 3.03

n=8,m=6 0.85 -7.22 -17.99 -25.32 -22.72 -9.22 4.14 6.86 0.34 -5.02 -3.51 3.28 6.50 3.72 2.48 3.29

n=8,m=8 -17.05 -12.07 -13.93 -17.65 -15.87 -13.20 -13.47 -15.41 -14.09 -10.72 -9.80 -13.04 -16.78 -19.66 -21.49 -21.57

n=9,m=-9 2.13 1.64 0.67 -0.17 -0.34 -0.71 -1.60 -1.79 -1.39 -0.33 0.73 0.57 -0.29 -0.93 0.21 1.45

n=9,m=-7 -2.34 -3.28 -2.32 -0.58 0.29 -0.44 -2.12 -2.78 -2.26 -1.39 -1.03 -1.03 -0.42 0.79 0.91 -0.32

n=9,m=-5 -4.32 -4.38 -4.14 -3.30 -2.44 -1.93 -1.46 -1.26 -1.79 -2.41 -2.91 -3.35 -3.86 -3.95 -3.93 -4.19

n=9,m=-3 -2.52 -3.38 -3.52 -2.97 -2.97 -4.18 -6.45 -9.03 -10.96 -11.67 -10.72 -9.06 -7.39 -5.55 -3.80 -2.53

n=9,m=-1 -0.40 -0.46 -0.43 -0.81 -2.16 -4.80 -7.61 -9.46 -9.21 -7.66 -6.10 -4.94 -4.17 -3.25 -1.95 -0.89

n=9,m=1 -1.78 -1.06 -1.04 -2.00 -3.14 -3.95 -4.61 -5.14 -5.61 -5.97 -6.24 -6.21 -5.25 -3.97 -2.99 -2.41

n=9,m=3 -1.85 -3.51 -4.82 -5.15 -5.16 -5.35 -5.28 -4.61 -3.36 -1.81 -0.81 -1.10 -1.88 -2.66 -2.19 -1.52

n=9,m=5 0.68 1.41 2.01 2.16 2.06 1.70 0.95 -0.03 -0.77 -1.20 -1.81 -2.82 -3.96 -4.27 -3.03 -0.99

n=9,m=7 -0.93 0.55 2.35 2.96 1.93 0.17 -0.83 -0.42 0.39 0.15 -1.20 -2.31 -2.17 -1.49 -1.35 -1.55

n=9,m=9 3.62 2.19 -0.09 -1.82 -1.98 -0.96 0.30 0.70 0.68 0.94 1.31 1.65 1.90 1.89 2.53 3.34

n=10,m=-10 -3.12 -1.99 0.62 3.33 5.78 6.46 5.16 4.00 2.09 -0.98 -3.76 -3.85 -2.21 -0.22 -0.13 -1.41

n=10,m=-8 2.36 1.25 0.39 0.64 2.16 3.53 2.62 0.93 0.00 1.70 4.43 5.40 4.81 4.36 4.06 3.63

n=10,m=-6 3.27 3.41 2.99 1.84 0.24 -0.01 2.54 6.11 7.84 6.95 5.30 3.88 2.85 1.95 1.66 2.42

n=10,m=-4 4.17 5.71 6.89 7.14 6.63 5.87 5.03 4.64 4.53 4.70 5.25 5.84 4.83 3.54 2.55 2.78

n=10,m=-2 -1.64 1.26 3.85 4.82 4.42 4.32 6.24 9.22 11.63 11.40 8.54 3.67 -1.13 -4.09 -4.92 -3.93

n=10,m=0 -0.03 -0.14 -0.54 -0.58 0.05 1.47 3.47 5.44 6.72 6.84 5.71 3.89 1.86 0.07 -0.79 -0.60

n=10,m=2 0.85 -0.85 -1.60 -0.43 1.89 3.38 3.47 2.81 2.82 3.56 4.62 5.01 4.69 4.01 3.19 2.34

n=10,m=4 -0.12 0.22 -0.36 -3.00 -5.39 -5.58 -2.89 0.93 3.99 5.35 5.31 4.35 3.34 2.37 1.14 0.11

n=10,m=6 0.55 -0.97 -3.23 -4.82 -4.24 -1.28 1.61 2.27 0.99 -0.06 0.11 1.13 1.29 0.45 0.30 0.77

n=10,m=8 -3.48 -2.49 -3.01 -3.90 -3.50 -2.76 -2.63 -2.77 -2.29 -1.47 -1.30 -2.05 -2.95 -3.67 -4.25 -4.39

n=10,m=10 -7.94 -6.61 -4.31 -2.00 -0.66 -0.63 -1.72 -1.44 -0.56 0.09 -0.20 -1.38 -1.87 -2.28 -4.37 -7.17

ߠ௜(ι)
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 n,m

11.25 33.75 56.25 78.75 101.25123.75 146.25168.75191.25213.75 236.25 258.75 281.25 303.75 326.25 348.75

n=0,m=0 0.96 0.97 0.93 0.91 0.92 0.97 0.99 1.05 1.06 0.99 0.95 0.92 0.96 0.97 0.98 0.97

n=1,m=-1 0.05 0.06 0.07 0.07 0.05 0.02 -0.01 -0.05 -0.06 -0.06 -0.03 0.01 0.03 0.04 0.05 0.05

n=1,m=1 0.00 0.01 0.03 0.05 0.08 0.10 0.13 0.14 0.11 0.08 0.05 0.01 -0.01 -0.04 -0.04 -0.02

n=2,m=-2 0.02 -0.02 -0.05 -0.07 -0.09 -0.09 -0.10 -0.12 -0.15 -0.12 -0.08 -0.04 0.01 0.04 0.05 0.04

n=2,m=0 -0.42 -0.44 -0.31 -0.22 -0.18 -0.17 -0.05 -0.09 -0.08 0.01 -0.04 -0.12 -0.32 -0.43 -0.46 -0.44

n=2,m=2 0.01 0.03 0.02 0.01 -0.02 -0.04 -0.06 -0.09 -0.13 -0.15 -0.17 -0.16 -0.13 -0.09 -0.04 -0.01

n=3,m=-3 0.02 0.07 0.08 0.07 0.05 0.02 0.01 0.02 0.04 0.06 0.04 -0.01 -0.06 -0.07 -0.05 -0.02

n=3,m=-1 0.04 0.06 0.06 0.05 0.04 0.02 -0.04 -0.06 -0.08 -0.03 0.00 0.01 0.02 0.00 0.00 0.00

n=3,m=1 0.07 0.05 0.03 0.03 0.02 0.04 0.05 0.07 0.07 0.06 0.03 0.06 0.09 0.15 0.16 0.12

n=3,m=3 -0.09 -0.07 -0.01 0.03 0.06 0.05 0.05 0.04 0.05 0.07 0.10 0.11 0.09 0.05 -0.01 -0.07

n=4,m=-4 -0.16 -0.33 -0.33 -0.17 0.05 0.22 0.22 0.07 -0.14 -0.26 -0.19 0.04 0.29 0.41 0.34 0.11

n=4,m=-2 -0.03 0.00 0.02 0.05 0.06 0.05 0.02 -0.02 -0.05 -0.08 -0.07 -0.07 -0.05 -0.05 -0.04 -0.04

n=4,m=0 0.71 0.73 0.58 0.49 0.51 0.61 0.60 0.77 0.77 0.56 0.47 0.44 0.61 0.72 0.76 0.73

n=4,m=2 -0.21 -0.21 -0.18 -0.17 -0.16 -0.16 -0.15 -0.14 -0.16 -0.15 -0.13 -0.14 -0.14 -0.17 -0.19 -0.21

n=4,m=4 0.39 0.20 -0.06 -0.25 -0.27 -0.12 0.10 0.26 0.26 0.08 -0.15 -0.28 -0.23 -0.02 0.23 0.39

n=5,m=-5 -0.02 -0.03 -0.01 0.01 0.04 0.04 0.02 -0.01 -0.03 -0.02 0.00 0.04 0.05 0.04 0.01 -0.01

n=5,m=-3 -0.10 -0.12 -0.12 -0.09 -0.07 -0.06 -0.08 -0.08 -0.08 -0.08 -0.06 -0.06 -0.06 -0.05 -0.06 -0.08

n=5,m=-1 -0.21 -0.20 -0.18 -0.16 -0.16 -0.17 -0.16 -0.22 -0.27 -0.33 -0.30 -0.29 -0.27 -0.20 -0.17 -0.16

n=5,m=1 -0.03 0.01 0.04 0.04 0.07 0.08 0.14 0.13 0.06 0.03 0.01 -0.06 -0.12 -0.19 -0.19 -0.12

n=5,m=3 -0.03 -0.05 -0.07 -0.08 -0.07 -0.06 -0.05 -0.05 -0.07 -0.08 -0.09 -0.09 -0.07 -0.05 -0.03 -0.02

n=5,m=5 0.01 0.00 -0.01 -0.04 -0.05 -0.04 -0.04 -0.03 -0.04 -0.05 -0.06 -0.04 -0.02 0.02 0.02 0.02

n=6,m=-6 0.04 0.07 0.08 0.06 0.02 -0.03 -0.02 0.02 0.05 0.07 0.06 0.04 0.03 0.01 0.01 0.03

n=6,m=-4 0.14 0.25 0.24 0.11 -0.06 -0.18 -0.19 -0.10 0.05 0.16 0.16 0.04 -0.12 -0.21 -0.17 -0.03

n=6,m=-2 -0.02 -0.03 -0.04 -0.06 -0.07 -0.07 -0.07 -0.06 -0.09 -0.03 -0.02 0.00 0.02 0.01 -0.01 -0.02

n=6,m=0 -0.36 -0.40 -0.25 -0.17 -0.15 -0.20 -0.11 -0.21 -0.21 -0.08 -0.08 -0.11 -0.31 -0.40 -0.43 -0.39

n=6,m=2 0.08 0.08 0.07 0.06 0.07 0.05 0.01 -0.04 -0.06 -0.05 -0.02 0.03 0.05 0.12 0.13 0.11

n=6,m=4 -0.23 -0.09 0.08 0.20 0.20 0.08 -0.06 -0.18 -0.18 -0.10 0.04 0.14 0.13 0.00 -0.15 -0.25

n=6,m=6 -0.02 -0.03 -0.01 0.01 0.01 -0.01 -0.05 -0.09 -0.10 -0.07 -0.03 0.01 0.02 0.02 0.01 0.01

n=7,m=-7 0.00 -0.02 -0.04 -0.03 -0.01 0.02 0.02 0.01 -0.02 -0.04 -0.03 0.00 0.02 0.01 0.00 -0.01

n=7,m=-5 0.05 0.08 0.07 0.04 0.01 -0.02 0.00 0.02 0.04 0.06 0.05 0.01 -0.03 -0.05 -0.03 0.02

n=7,m=-3 0.06 0.07 0.08 0.08 0.07 0.06 0.04 0.03 0.04 0.06 0.06 0.05 0.04 0.06 0.07 0.08

n=7,m=-1 0.24 0.20 0.19 0.16 0.17 0.19 0.16 0.18 0.19 0.24 0.25 0.27 0.28 0.24 0.21 0.21

n=7,m=1 -0.02 -0.07 -0.11 -0.12 -0.15 -0.13 -0.16 -0.15 -0.12 -0.10 -0.10 0.00 0.06 0.12 0.12 0.06

n=7,m=3 0.03 0.04 0.06 0.07 0.09 0.09 0.08 0.11 0.10 0.10 0.07 0.05 0.03 0.03 0.03 0.03

n=7,m=5 -0.07 -0.03 -0.01 -0.01 -0.03 -0.05 -0.09 -0.10 -0.07 -0.03 -0.01 0.01 -0.01 -0.04 -0.08 -0.09

n=7,m=7 0.00 -0.02 -0.05 -0.07 -0.06 -0.01 0.04 0.06 0.04 0.00 -0.03 -0.02 -0.01 0.02 0.03 0.02

n=8,m=-8 -0.03 -0.04 -0.01 0.00 -0.01 -0.02 0.00 0.04 0.06 0.04 0.00 -0.05 -0.08 -0.06 -0.02 -0.02

n=8,m=-6 0.00 -0.02 -0.03 -0.04 -0.02 -0.02 -0.02 -0.04 -0.04 -0.04 -0.05 -0.04 -0.03 -0.04 -0.02 -0.01

n=8,m=-4 -0.10 -0.19 -0.20 -0.13 -0.03 0.06 0.11 0.06 -0.02 -0.07 -0.06 -0.01 0.05 0.09 0.07 0.01

n=8,m=-2 0.00 0.01 0.03 0.07 0.09 0.08 0.06 0.05 0.05 0.02 0.01 0.01 0.01 0.02 0.01 0.00

n=8,m=0 0.30 0.31 0.21 0.15 0.16 0.23 0.23 0.34 0.34 0.24 0.19 0.16 0.26 0.31 0.32 0.32

n=8,m=2 -0.12 -0.12 -0.10 -0.07 -0.07 -0.07 -0.07 -0.09 -0.10 -0.08 -0.07 -0.08 -0.09 -0.13 -0.16 -0.16

n=8,m=4 0.12 0.05 -0.04 -0.13 -0.16 -0.12 -0.03 0.06 0.09 0.05 -0.02 -0.09 -0.08 -0.03 0.06 0.12

n=8,m=6 0.00 -0.02 -0.04 -0.07 -0.06 -0.04 -0.02 -0.03 -0.06 -0.08 -0.06 -0.05 -0.04 -0.02 -0.01 0.00

n=8,m=8 0.00 -0.03 -0.04 -0.03 -0.03 -0.06 -0.08 -0.06 -0.02 0.02 0.05 0.03 -0.02 -0.05 -0.05 -0.02

n=9,m=-9 0.01 0.00 0.00 0.01 0.00 0.00 0.03 0.04 0.03 0.01 -0.03 -0.05 -0.05 -0.01 0.01 0.02

n=9,m=-7 -0.01 -0.03 -0.04 -0.04 -0.03 -0.01 0.01 0.02 0.03 0.02 0.00 0.00 -0.01 0.00 0.00 0.00

n=9,m=-5 0.09 0.09 0.08 0.09 0.08 0.08 0.08 0.07 0.07 0.08 0.09 0.11 0.11 0.10 0.10 0.09

n=9,m=-3 -0.10 -0.07 -0.04 -0.04 -0.02 -0.03 -0.06 -0.05 -0.07 -0.09 -0.11 -0.13 -0.12 -0.14 -0.14 -0.12

n=9,m=-1 -0.11 -0.09 -0.06 -0.04 -0.04 -0.05 -0.02 -0.04 -0.06 -0.11 -0.10 -0.13 -0.12 -0.07 -0.07 -0.06

n=9,m=1 0.12 0.13 0.14 0.14 0.16 0.16 0.20 0.18 0.16 0.17 0.18 0.13 0.07 0.03 0.02 0.07

n=9,m=3 -0.12 -0.13 -0.14 -0.14 -0.14 -0.12 -0.12 -0.12 -0.10 -0.10 -0.10 -0.11 -0.09 -0.08 -0.08 -0.10

n=9,m=5 -0.01 -0.01 -0.01 -0.01 -0.01 -0.01 -0.01 -0.02 -0.03 -0.05 -0.05 -0.04 -0.04 -0.03 -0.03 -0.02

n=9,m=7 0.04 0.03 0.02 0.03 0.03 0.01 0.02 0.05 0.07 0.09 0.09 0.08 0.06 0.04 0.05 0.05

n=9,m=9 0.00 -0.01 0.00 0.01 -0.01 -0.04 -0.08 -0.08 -0.06 -0.03 0.00 0.00 -0.03 -0.05 -0.04 -0.02

n=10,m=-10 0.00 0.02 0.03 0.05 0.06 0.08 0.10 0.10 0.08 0.08 0.07 0.06 0.05 0.03 -0.01 -0.01

n=10,m=-8 0.05 0.05 0.04 0.02 0.03 0.04 0.01 0.00 -0.01 0.00 0.04 0.07 0.09 0.06 0.04 0.02

n=10,m=-6 -0.01 -0.02 -0.02 -0.02 -0.02 -0.03 -0.01 0.00 0.00 -0.02 -0.04 -0.03 0.00 0.00 0.01 0.00

n=10,m=-4 0.05 0.10 0.10 0.07 0.00 -0.04 -0.03 0.00 0.04 0.05 0.04 0.02 -0.04 -0.09 -0.07 -0.02

n=10,m=-2 0.03 0.04 0.03 0.01 0.02 0.04 0.06 0.08 0.05 0.07 0.06 0.06 0.07 0.07 0.04 0.04

n=10,m=0 -0.13 -0.13 -0.11 -0.09 -0.10 -0.12 -0.11 -0.14 -0.14 -0.09 -0.10 -0.11 -0.16 -0.16 -0.15 -0.13

n=10,m=2 0.11 0.10 0.08 0.09 0.11 0.11 0.10 0.11 0.11 0.12 0.12 0.12 0.13 0.17 0.18 0.15

n=10,m=4 0.01 0.06 0.11 0.17 0.17 0.12 0.06 0.00 0.01 0.08 0.12 0.15 0.14 0.10 0.04 0.02

n=10,m=6 -0.02 -0.03 -0.03 -0.02 -0.01 -0.01 -0.01 -0.02 -0.03 -0.03 -0.04 -0.05 -0.05 -0.03 0.00 0.01

n=10,m=8 0.05 0.05 0.05 0.05 0.03 0.06 0.09 0.12 0.11 0.07 0.03 0.02 0.04 0.09 0.10 0.06

n=10,m=10 -0.05 -0.02 -0.03 -0.06 -0.07 -0.08 -0.08 -0.08 -0.09 -0.08 -0.05 -0.05 -0.06 -0.06 -0.07 -0.07

ߠ௜(ι)
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 n,m

11.25 33.75 56.25 78.75101.25123.75146.25168.75191.25213.75236.25258.75281.25303.75326.25348.75

n=0,m=0 0.94 0.94 0.93 0.96 1.01 1.10 1.22 1.32 1.33 1.25 1.12 1.02 0.95 0.92 0.92 0.93

n=1,m=-1 -0.18 -0.18 -0.17 -0.17 -0.18 -0.19 -0.23 -0.27 -0.30 -0.28 -0.24 -0.19 -0.17 -0.16 -0.16 -0.18

n=1,m=1 0.05 0.07 0.08 0.10 0.12 0.14 0.14 0.12 0.08 0.06 0.05 0.04 0.03 0.02 0.02 0.04

n=2,m=-2 0.10 0.10 0.08 0.06 0.05 0.04 0.04 0.03 0.01 0.01 0.01 0.02 0.03 0.05 0.07 0.09

n=2,m=0 0.13 0.11 0.09 0.07 0.01 -0.07 -0.18 -0.26 -0.27 -0.21 -0.10 0.00 0.06 0.10 0.11 0.12

n=2,m=2 -0.14 -0.14 -0.13 -0.11 -0.10 -0.11 -0.13 -0.17 -0.21 -0.22 -0.22 -0.21 -0.19 -0.16 -0.13 -0.13

n=3,m=-3 0.04 0.06 0.07 0.09 0.10 0.10 0.07 0.03 0.00 -0.03 -0.05 -0.04 -0.02 0.01 0.03 0.03

n=3,m=-1 -0.23 -0.22 -0.22 -0.21 -0.19 -0.16 -0.07 0.03 0.11 0.11 0.04 -0.04 -0.11 -0.17 -0.21 -0.23

n=3,m=1 -0.04 -0.03 -0.04 -0.05 -0.08 -0.14 -0.19 -0.19 -0.13 -0.06 -0.01 0.00 -0.02 -0.04 -0.05 -0.04

n=3,m=3 -0.09 -0.07 -0.03 0.02 0.04 0.05 0.05 0.04 0.04 0.04 0.03 0.03 0.02 0.01 -0.01 -0.06

n=4,m=-4 -0.03 -0.11 -0.09 0.00 0.10 0.16 0.14 0.08 0.00 -0.05 -0.04 0.03 0.11 0.16 0.17 0.08

n=4,m=-2 0.01 0.02 0.03 0.05 0.04 0.03 0.04 0.08 0.14 0.16 0.13 0.08 0.04 0.02 0.02 0.01

n=4,m=0 0.17 0.15 0.13 0.09 0.02 -0.10 -0.25 -0.36 -0.36 -0.25 -0.10 0.02 0.09 0.13 0.15 0.16

n=4,m=2 0.17 0.13 0.11 0.10 0.10 0.10 0.11 0.16 0.22 0.24 0.21 0.18 0.15 0.15 0.17 0.19

n=4,m=4 0.27 0.14 -0.04 -0.17 -0.19 -0.14 -0.06 -0.02 -0.03 -0.09 -0.14 -0.16 -0.12 0.00 0.15 0.26

n=5,m=-5 -0.08 -0.06 -0.05 -0.05 -0.05 -0.04 -0.03 0.00 0.03 0.06 0.07 0.06 0.05 0.02 -0.04 -0.08

n=5,m=-3 0.00 -0.03 -0.06 -0.09 -0.12 -0.13 -0.10 -0.07 -0.04 -0.03 -0.01 0.02 0.06 0.07 0.04 0.02

n=5,m=-1 0.03 0.04 0.04 0.03 0.02 -0.03 -0.12 -0.20 -0.23 -0.21 -0.15 -0.09 -0.06 -0.04 -0.02 0.00

n=5,m=1 -0.05 -0.04 -0.03 -0.01 0.04 0.11 0.21 0.28 0.27 0.20 0.11 0.04 -0.01 -0.05 -0.06 -0.06

n=5,m=3 0.08 0.09 0.07 0.04 0.01 0.00 -0.01 -0.02 -0.03 -0.04 -0.06 -0.06 -0.04 -0.02 0.02 0.06

n=5,m=5 0.02 0.04 0.06 0.06 0.05 0.02 0.00 0.01 0.03 0.04 0.05 0.06 0.08 0.09 0.08 0.05

n=6,m=-6 0.05 0.06 0.05 0.01 -0.03 -0.06 -0.09 -0.10 -0.08 -0.04 0.00 0.01 -0.01 -0.03 -0.02 0.00

n=6,m=-4 0.05 0.12 0.12 0.08 0.02 -0.02 -0.02 0.02 0.07 0.08 0.05 -0.03 -0.14 -0.18 -0.15 -0.06

n=6,m=-2 -0.03 -0.04 -0.06 -0.08 -0.12 -0.17 -0.23 -0.27 -0.28 -0.22 -0.14 -0.07 -0.02 -0.01 -0.03 -0.03

n=6,m=0 0.09 0.07 0.04 0.03 0.06 0.14 0.27 0.39 0.41 0.32 0.19 0.07 0.00 0.00 0.04 0.08

n=6,m=2 -0.06 -0.07 -0.05 -0.04 -0.06 -0.09 -0.16 -0.25 -0.32 -0.33 -0.30 -0.25 -0.18 -0.11 -0.05 -0.04

n=6,m=4 -0.14 -0.08 -0.02 0.02 0.01 -0.03 -0.10 -0.15 -0.15 -0.07 0.03 0.09 0.07 0.00 -0.10 -0.15

n=6,m=6 -0.06 -0.05 -0.02 0.01 0.00 -0.03 -0.06 -0.06 -0.05 -0.02 0.00 0.03 0.04 0.02 -0.01 -0.04

n=7,m=-7 -0.12 -0.13 -0.10 -0.05 0.00 0.03 0.03 -0.01 -0.06 -0.09 -0.07 -0.02 0.04 0.06 0.02 -0.05

n=7,m=-5 0.01 0.01 0.02 0.04 0.07 0.07 0.05 0.01 -0.03 -0.05 -0.04 -0.03 -0.02 0.00 0.00 0.01

n=7,m=-3 -0.04 0.00 0.01 -0.01 -0.02 -0.05 -0.06 -0.05 -0.03 -0.01 0.01 -0.01 -0.04 -0.06 -0.06 -0.06

n=7,m=-1 0.03 0.01 0.01 0.04 0.09 0.11 0.08 0.02 -0.06 -0.08 -0.07 -0.03 0.01 0.05 0.06 0.05

n=7,m=1 0.02 0.02 0.01 -0.01 0.00 0.04 0.06 0.04 0.01 -0.01 0.00 0.01 0.01 0.00 -0.01 0.00

n=7,m=3 -0.04 -0.04 0.01 0.08 0.13 0.15 0.14 0.13 0.11 0.11 0.11 0.12 0.10 0.08 0.04 -0.01

n=7,m=5 0.02 0.03 0.04 0.04 0.05 0.06 0.07 0.07 0.06 0.04 0.02 -0.01 -0.02 -0.02 -0.01 0.00

n=7,m=7 0.15 0.11 0.04 0.02 0.02 0.04 0.07 0.08 0.06 0.02 -0.02 -0.03 -0.02 0.04 0.09 0.14

n=8,m=-8 -0.10 -0.11 -0.08 -0.06 -0.05 -0.05 -0.03 -0.01 -0.01 -0.01 -0.02 -0.03 -0.03 -0.02 -0.02 -0.06

n=8,m=-6 0.00 0.00 -0.01 0.01 0.02 0.06 0.09 0.10 0.06 0.01 -0.01 -0.02 -0.02 -0.02 -0.01 0.00

n=8,m=-4 -0.05 -0.14 -0.17 -0.14 -0.07 0.00 0.02 -0.02 -0.06 -0.07 -0.01 0.09 0.16 0.18 0.16 0.06

n=8,m=-2 -0.02 -0.01 0.01 0.02 0.03 0.04 0.08 0.11 0.14 0.14 0.13 0.11 0.07 0.04 0.00 -0.01

n=8,m=0 -0.14 -0.14 -0.14 -0.13 -0.10 -0.04 0.04 0.10 0.10 0.03 -0.05 -0.10 -0.14 -0.14 -0.13 -0.13

n=8,m=2 0.06 0.05 0.06 0.08 0.09 0.10 0.11 0.11 0.11 0.12 0.14 0.14 0.13 0.11 0.08 0.07

n=8,m=4 0.12 0.07 0.01 -0.07 -0.11 -0.09 -0.01 0.08 0.12 0.06 -0.03 -0.07 -0.04 0.03 0.09 0.12

n=8,m=6 0.03 0.02 0.01 0.01 0.01 -0.01 -0.01 -0.01 -0.01 0.00 -0.01 -0.01 -0.01 -0.01 0.02 0.03

n=8,m=8 0.06 -0.04 -0.10 -0.10 -0.07 -0.04 -0.02 0.00 0.01 0.02 0.02 0.02 0.01 0.02 0.06 0.09

n=9,m=-9 -0.02 -0.02 -0.05 -0.04 -0.02 0.03 0.05 0.04 0.01 -0.01 -0.03 -0.05 -0.07 -0.07 -0.05 -0.04

n=9,m=-7 0.05 0.04 0.02 0.00 -0.02 -0.04 -0.03 0.00 0.05 0.10 0.10 0.10 0.07 0.05 0.05 0.05

n=9,m=-5 0.02 0.02 0.02 0.00 0.00 0.02 0.04 0.06 0.07 0.05 0.04 0.02 0.00 -0.01 -0.01 0.01

n=9,m=-3 0.03 0.02 0.02 0.03 0.03 0.03 0.00 -0.05 -0.07 -0.08 -0.06 -0.03 0.01 0.02 0.02 0.03

n=9,m=-1 -0.04 -0.04 -0.05 -0.03 0.00 0.05 0.11 0.15 0.16 0.14 0.09 0.05 0.02 0.00 -0.01 -0.03

n=9,m=1 0.04 0.04 0.03 0.03 0.00 -0.04 -0.13 -0.19 -0.20 -0.16 -0.10 -0.04 0.01 0.04 0.04 0.03

n=9,m=3 0.03 0.04 0.02 0.00 -0.04 -0.06 -0.08 -0.10 -0.08 -0.07 -0.06 -0.06 -0.06 -0.05 -0.03 0.00

n=9,m=5 -0.01 -0.01 -0.02 -0.04 -0.06 -0.07 -0.07 -0.05 -0.01 0.01 0.00 -0.01 -0.02 -0.02 -0.01 -0.01

n=9,m=7 0.02 0.03 0.03 0.02 0.00 -0.01 -0.04 -0.06 -0.04 0.02 0.06 0.07 0.07 0.04 0.01 0.01

n=9,m=9 0.00 0.01 -0.02 -0.05 -0.06 -0.04 -0.02 -0.03 -0.04 -0.01 0.02 0.02 0.01 0.00 -0.01 -0.01

n=10,m=-10 0.00 0.03 0.04 0.02 0.01 0.00 0.00 0.00 0.01 0.03 0.04 0.03 0.04 0.01 -0.02 -0.02

n=10,m=-8 0.04 0.05 0.04 0.01 0.00 -0.01 -0.01 -0.02 -0.04 -0.04 -0.01 0.02 0.03 0.00 -0.01 0.00

n=10,m=-6 -0.04 -0.05 -0.03 -0.01 -0.02 -0.04 -0.07 -0.07 -0.04 -0.03 -0.02 -0.05 -0.04 -0.05 -0.05 -0.05

n=10,m=-4 0.03 0.09 0.09 0.02 -0.06 -0.11 -0.10 0.00 0.07 0.10 0.07 -0.02 -0.13 -0.17 -0.15 -0.06

n=10,m=-2 -0.03 -0.07 -0.05 -0.02 -0.02 -0.02 0.00 0.01 0.02 0.02 0.02 0.01 0.03 0.04 0.05 0.02

n=10,m=0 0.05 0.06 0.08 0.08 0.07 0.05 0.00 -0.05 -0.07 -0.04 0.04 0.10 0.11 0.10 0.07 0.05

n=10,m=2 0.02 0.03 0.01 -0.01 -0.03 -0.06 -0.07 -0.05 -0.03 0.00 0.01 -0.01 -0.05 -0.08 -0.07 -0.02

n=10,m=4 -0.21 -0.14 -0.01 0.10 0.12 0.05 -0.06 -0.14 -0.13 -0.05 0.04 0.10 0.08 0.01 -0.09 -0.17

n=10,m=6 0.03 0.02 -0.01 -0.01 0.02 0.04 0.03 0.01 -0.02 -0.03 -0.04 -0.04 -0.05 -0.04 -0.01 0.02

n=10,m=8 -0.06 0.00 0.04 0.05 0.03 0.02 0.02 0.00 -0.03 -0.05 -0.05 -0.03 -0.02 -0.04 -0.07 -0.09

n=10,m=10 -0.06 -0.02 0.01 0.02 0.02 0.00 -0.01 -0.02 -0.03 -0.04 -0.05 -0.06 -0.06 -0.05 -0.05 -0.06

ߠ௜(ι)


image3.emf


n,m

11.25 33.75 56.25 78.75101.25123.75146.25168.75191.25213.75236.25258.75281.25303.75326.25348.75

n=0,m=0 0.97 0.95 0.93 0.91 0.92 0.95 0.98 1.00 0.99 0.95 0.91 0.88 0.86 0.88 0.91 0.95

n=1,m=-1 -0.23 -0.21 -0.20 -0.21 -0.21 -0.20 -0.20 -0.21 -0.22 -0.22 -0.19 -0.19 -0.21 -0.24 -0.26 -0.26

n=1,m=1 -0.23 -0.22 -0.15 -0.08 -0.03 -0.01 -0.03 -0.08 -0.12 -0.14 -0.13 -0.10 -0.07 -0.07 -0.11 -0.18

n=2,m=-2 -0.04 -0.11 -0.12 -0.06 0.06 0.17 0.22 0.20 0.16 0.13 0.10 0.04 -0.01 -0.02 -0.01 -0.01

n=2,m=0 -0.08 -0.05 -0.03 -0.05 -0.07 -0.08 -0.09 -0.09 -0.08 -0.06 -0.04 -0.04 -0.06 -0.08 -0.09 -0.10

n=2,m=2 0.04 0.00 -0.05 -0.08 -0.07 -0.07 -0.10 -0.14 -0.18 -0.21 -0.21 -0.19 -0.15 -0.10 -0.05 0.01

n=3,m=-3 -0.05 -0.01 0.02 0.03 0.07 0.12 0.16 0.17 0.18 0.17 0.15 0.12 0.09 0.05 -0.01 -0.05

n=3,m=-1 0.20 0.19 0.18 0.16 0.17 0.20 0.21 0.20 0.17 0.14 0.11 0.10 0.11 0.14 0.16 0.18

n=3,m=1 -0.16 -0.20 -0.23 -0.22 -0.21 -0.20 -0.23 -0.27 -0.30 -0.29 -0.24 -0.16 -0.10 -0.06 -0.07 -0.11

n=3,m=3 -0.14 -0.09 -0.04 -0.02 -0.02 -0.01 -0.02 -0.04 -0.07 -0.12 -0.16 -0.14 -0.10 -0.09 -0.12 -0.15

n=4,m=-4 0.00 -0.06 -0.10 -0.07 0.00 0.05 0.05 -0.01 -0.08 -0.14 -0.17 -0.18 -0.13 -0.07 0.00 0.03

n=4,m=-2 -0.05 -0.08 -0.07 0.00 0.09 0.14 0.14 0.09 0.02 -0.04 -0.08 -0.09 -0.08 -0.04 -0.01 -0.02

n=4,m=0 0.16 0.18 0.17 0.13 0.07 0.01 -0.04 -0.05 -0.03 0.01 0.07 0.13 0.17 0.18 0.17 0.16

n=4,m=2 0.07 0.06 0.03 0.01 0.02 0.04 0.06 0.08 0.08 0.05 0.02 0.00 0.01 0.03 0.05 0.07

n=4,m=4 0.01 -0.06 -0.12 -0.10 -0.05 -0.03 -0.03 -0.04 -0.04 -0.04 -0.04 -0.01 0.00 0.00 0.02 0.04

n=5,m=-5 -0.07 -0.11 -0.09 -0.02 0.06 0.09 0.11 0.11 0.08 0.03 -0.01 -0.03 -0.02 0.00 0.01 -0.02

n=5,m=-3 -0.07 -0.03 0.04 0.11 0.13 0.09 0.01 -0.07 -0.11 -0.09 -0.03 0.01 0.02 -0.02 -0.05 -0.07

n=5,m=-1 -0.11 -0.06 -0.07 -0.12 -0.15 -0.13 -0.06 0.00 -0.01 -0.09 -0.19 -0.26 -0.26 -0.23 -0.20 -0.17

n=5,m=1 0.18 0.15 0.09 0.06 0.08 0.11 0.13 0.15 0.16 0.15 0.12 0.08 0.03 0.02 0.05 0.13

n=5,m=3 0.03 -0.01 -0.04 -0.05 -0.06 -0.08 -0.11 -0.12 -0.06 0.02 0.09 0.12 0.12 0.11 0.09 0.07

n=5,m=5 -0.05 -0.05 -0.03 -0.04 -0.08 -0.12 -0.15 -0.17 -0.17 -0.19 -0.19 -0.15 -0.11 -0.10 -0.08 -0.06

n=6,m=-6 -0.01 -0.03 -0.01 0.03 0.07 0.11 0.14 0.16 0.15 0.09 0.02 -0.03 -0.06 -0.07 -0.03 0.00

n=6,m=-4 0.03 0.08 0.14 0.20 0.23 0.23 0.17 0.07 -0.04 -0.09 -0.09 -0.05 0.00 0.03 0.04 0.03

n=6,m=-2 0.13 0.11 0.04 -0.06 -0.15 -0.20 -0.21 -0.19 -0.16 -0.12 -0.08 -0.03 0.03 0.05 0.07 0.10

n=6,m=0 0.02 0.02 0.03 0.03 0.02 -0.02 -0.07 -0.13 -0.16 -0.15 -0.11 -0.05 0.00 0.03 0.04 0.03

n=6,m=2 -0.10 -0.06 0.01 0.06 0.08 0.10 0.14 0.18 0.17 0.16 0.12 0.06 0.01 -0.02 -0.04 -0.09

n=6,m=4 0.06 0.07 0.12 0.18 0.21 0.18 0.12 0.06 0.03 0.03 0.03 0.02 0.03 0.06 0.07 0.06

n=6,m=6 0.00 0.05 0.06 0.04 0.03 0.03 0.04 0.03 0.00 -0.05 -0.09 -0.11 -0.13 -0.15 -0.14 -0.08

n=7,m=-7 0.10 0.10 0.08 0.09 0.09 0.07 0.08 0.08 0.07 0.03 -0.01 -0.04 -0.04 -0.02 0.04 0.09

n=7,m=-5 0.05 0.10 0.12 0.15 0.16 0.14 0.08 -0.01 -0.07 -0.08 -0.07 -0.06 -0.06 -0.06 -0.05 0.00

n=7,m=-3 -0.05 -0.08 -0.10 -0.11 -0.13 -0.13 -0.11 -0.09 -0.09 -0.08 -0.07 -0.05 -0.02 -0.01 -0.01 -0.02

n=7,m=-1 0.06 0.04 0.01 -0.04 -0.10 -0.12 -0.09 -0.03 0.03 0.06 0.05 0.05 0.04 0.03 0.04 0.06

n=7,m=1 0.06 0.04 0.02 0.00 -0.01 0.00 0.02 0.06 0.08 0.09 0.08 0.08 0.08 0.07 0.07 0.06

n=7,m=3 -0.02 -0.02 -0.01 0.00 -0.01 -0.03 -0.03 -0.03 -0.04 -0.01 0.05 0.08 0.08 0.07 0.04 0.01

n=7,m=5 0.04 0.06 0.10 0.14 0.17 0.16 0.12 0.08 0.03 0.02 0.01 0.00 -0.01 0.00 0.02 0.03

n=7,m=7 -0.10 -0.07 -0.09 -0.12 -0.16 -0.17 -0.15 -0.12 -0.11 -0.11 -0.11 -0.10 -0.12 -0.14 -0.16 -0.14

n=8,m=-8 0.01 0.02 0.05 0.08 0.08 0.07 0.06 0.06 0.05 0.01 -0.03 -0.06 -0.06 -0.03 0.00 0.01

n=8,m=-6 -0.02 -0.02 -0.02 -0.02 -0.03 -0.05 -0.07 -0.09 -0.08 -0.04 0.02 0.06 0.07 0.06 0.02 0.00

n=8,m=-4 -0.06 -0.06 -0.11 -0.19 -0.25 -0.25 -0.15 0.00 0.15 0.23 0.23 0.17 0.08 -0.01 -0.07 -0.08

n=8,m=-2 -0.09 -0.02 0.00 -0.01 -0.04 -0.05 -0.04 0.00 0.01 -0.01 -0.05 -0.08 -0.09 -0.11 -0.14 -0.14

n=8,m=0 -0.20 -0.19 -0.16 -0.09 -0.02 0.07 0.14 0.20 0.21 0.17 0.08 0.01 -0.05 -0.10 -0.15 -0.18

n=8,m=2 0.18 0.20 0.21 0.20 0.16 0.11 0.07 0.06 0.10 0.17 0.22 0.23 0.22 0.18 0.15 0.16

n=8,m=4 -0.05 -0.07 -0.13 -0.20 -0.25 -0.24 -0.18 -0.11 -0.08 -0.07 -0.08 -0.10 -0.10 -0.08 -0.06 -0.06

n=8,m=6 0.12 0.09 0.06 0.03 0.02 0.04 0.06 0.08 0.11 0.13 0.14 0.12 0.08 0.06 0.09 0.11

n=8,m=8 -0.01 0.06 0.06 0.01 -0.04 -0.05 -0.03 0.01 0.01 0.01 0.01 0.03 0.03 0.01 -0.03 -0.06

n=9,m=-9 -0.06 -0.02 0.00 0.03 0.04 0.04 0.04 0.04 0.02 -0.01 -0.05 -0.08 -0.10 -0.10 -0.10 -0.09

n=9,m=-7 -0.09 -0.08 -0.09 -0.13 -0.16 -0.18 -0.18 -0.15 -0.09 -0.01 0.03 0.03 0.01 -0.02 -0.07 -0.10

n=9,m=-5 0.07 0.09 0.07 -0.02 -0.13 -0.18 -0.13 -0.01 0.11 0.21 0.23 0.22 0.17 0.12 0.07 0.06

n=9,m=-3 0.14 0.18 0.15 0.06 -0.05 -0.15 -0.19 -0.16 -0.11 -0.06 -0.03 0.01 0.03 0.02 0.04 0.08

n=9,m=-1 0.03 -0.01 -0.02 -0.02 -0.05 -0.11 -0.19 -0.22 -0.19 -0.11 -0.04 0.02 0.05 0.05 0.06 0.05

n=9,m=1 -0.06 -0.05 -0.04 -0.04 -0.06 -0.08 -0.09 -0.09 -0.09 -0.06 -0.01 0.03 0.03 0.03 0.00 -0.04

n=9,m=3 -0.02 -0.02 -0.07 -0.11 -0.10 -0.05 0.01 0.07 0.09 0.11 0.10 0.03 -0.06 -0.12 -0.11 -0.07

n=9,m=5 0.03 0.01 -0.04 -0.11 -0.13 -0.09 -0.03 0.00 0.00 -0.01 -0.02 -0.05 -0.06 -0.04 -0.01 0.02

n=9,m=7 0.15 0.12 0.10 0.09 0.11 0.12 0.14 0.16 0.16 0.14 0.10 0.08 0.11 0.16 0.19 0.19

n=9,m=9 0.01 0.03 0.02 -0.01 -0.04 -0.07 -0.09 -0.10 -0.11 -0.11 -0.09 -0.05 -0.03 -0.03 -0.04 -0.03

n=10,m=-10 -0.02 0.00 0.02 0.04 0.05 0.03 0.02 0.01 0.01 0.01 0.01 0.00 0.00 0.00 0.00 -0.01

n=10,m=-8 -0.06 -0.05 -0.06 -0.08 -0.11 -0.13 -0.18 -0.26 -0.28 -0.25 -0.18 -0.09 -0.02 0.00 -0.03 -0.05

n=10,m=-6 0.07 0.11 0.08 -0.01 -0.09 -0.14 -0.14 -0.12 -0.09 -0.04 -0.03 -0.05 -0.07 -0.09 -0.07 -0.01

n=10,m=-4 0.06 0.15 0.19 0.15 0.05 -0.04 -0.07 -0.07 -0.10 -0.15 -0.23 -0.26 -0.23 -0.16 -0.08 -0.02

n=10,m=-2 0.01 0.05 0.07 0.09 0.08 0.06 0.05 0.05 0.06 0.06 0.07 0.09 0.09 0.05 0.01 -0.01

n=10,m=0 0.30 0.25 0.18 0.12 0.04 -0.06 -0.15 -0.18 -0.15 -0.04 0.07 0.16 0.21 0.24 0.28 0.32

n=10,m=2 0.12 0.07 0.00 -0.06 -0.13 -0.20 -0.24 -0.24 -0.22 -0.18 -0.14 -0.09 -0.04 0.02 0.08 0.13

n=10,m=4 0.01 0.06 0.16 0.25 0.27 0.25 0.24 0.26 0.28 0.33 0.37 0.34 0.26 0.17 0.10 0.04

n=10,m=6 -0.07 -0.11 -0.14 -0.15 -0.17 -0.18 -0.16 -0.11 -0.04 0.02 0.06 0.08 0.10 0.11 0.09 0.02

n=10,m=8 -0.02 -0.12 -0.11 -0.04 0.00 0.01 0.00 -0.02 0.00 0.05 0.09 0.09 0.11 0.15 0.16 0.11

n=10,m=10 0.03 0.03 0.01 0.00 -0.01 -0.04 -0.07 -0.06 -0.04 -0.04 -0.04 -0.03 -0.02 -0.02 -0.01 0.01

ߠ௜(ι)


